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t) The 3 sides o a éﬁ-"&nj/e are X , X4 , Lx=3

| The' penmeéer s Gliem . _ :
Calelabe the wlie of x . ( Hink = seF wp an egua/{fm ﬁfs‘é)

2): TIs fthe trangle shaon belww  a righF-anjfed &n“angie,? Shao worki{rfs
b Jusfrifj gor answer

. leom .
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3)- Look of these  numbers
) 3 T 15

fird  another st F b Numbes  so thak
o the rnge has  inceased {’7 )
o e mean emawms the same
e e median /7615 déc;\éfmzt’ f’j /
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5) Solve these  simullanensy e@aaérmbi /37 a a_/jreb@ method

4

Sx -24 = #ef (2

L‘r'x-*a’j i
6:) A soution Fo the eguation
x’+3x-9 =0

Lies lﬁe}wem [ aend 2 . Use Frial and fmprawmen/ b find
the solbin Lo | decimal place .



